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Identify the name of the material which has no fixed shape but a fixed volume::
Wood, a piece of iron, oxygen and water.

T § dfed 29 T = 31 weml & W fafea) 1
Name any two materials stored in leucoplasts.

wed %1 A aret difvs ofin = T fefgu) ww o1 9 fafaw) 1
MName the physical quantity that measures inertia. State its Sl unit.
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Define latent heat of vapourisation. Explain why particles in steam have more energy
than water at 100°C ?

I =i i Fifeg | = 2 Suuige & W fefEg) 2
Define metalloid. Write names of two metalloids.
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Name the tissues which store fat in our body. Where are these tissues found ?
—_—
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A stone and the earth attract each other with an equal and opposite force. Why then we

see only the stone falling towards the earth but not the earth rising towards the stone.

87 (@) TR F ] SR & T fafa) 2§ o o fatan ) 3
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_+a]  Name the two types of animal feed. How do you differentiate between them?
Name one exotic and one indigenous breed of cattle.
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R List three ways by which insect pests attack the plants.
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Justify the following statements :
f__.{-i-}/ Evaporation causes cooling
~—Ti)  Sponge though compressible yet is a solid
—+4iity”  The rate of diffusion of liquids is higher than that of solids.
}/m Yo @ RTO v FREl Bemsee e @ e ¥ @ A 82 39 e =
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iy~ What happens when a beam of light is passed through a colloidal solution?
Name this phenomenon.
i~ Water is considered as a compound. Mention one point to justify.

. ST siR i el § i siw 3
Write three differences between Prokaryotic and Eukaryotic cells.

: e FIFFIEH F1 F{TES T F =0 U& AT fa3 T8 | 3
T Draw a neat and labelled diagram of Transverse section of collenchyma.
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Name the type of epithelial tissue that lines the following :
—i)~ Oesophagus

{({il), Respiratory tract

At Kidney tubules

—fv~ Inner lining of intestine

—{v}— Blood vessels
(vi)y Ducts of salivary glands

(o @ e W sRafie it m e ew it Ed e e g e 3
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Define velocity and acceleration. Is it possible for a body to have zero velocity but
constant acceleration 7 Justify your answer.

/(’/gf =27 %1 7ifa = wem e fafew)
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(i) (i)

47 State Newton's first law of motion.
~—bT Look at the diagrams given below and state in which case will the block move
and in which direction? Give reason to support your answer

NN BN/ BN
(Left to Right) //A _—*/A (Right to Left)

(i) (i)
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/r’ﬁA How are the force and momentum of a body related?
,/Cb}’ An acceleration of 5m/s? is produced in a body of mass 2 kg and an acceleration
of 2m/s? is produced in a body of mass 4 kg. In which case a greater force is
required and why?

@maﬁﬁwﬁﬁﬁﬂwnm3mﬁm§aﬁmmhqﬁ$hﬂaﬁﬁq; 3
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(g=9.8m/s?)
e thrown upward takes 3s to attain maximum height. Calculate.

Initial velocity of stone.
Maximum height attained by stone.
Net displacement when it comes back.

(g=9.8m/s?)

fﬂwwaﬁﬁsmﬁnmﬁmﬂmmﬁﬁm 3
List three differences between mass and weight of an object. :
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Impmved poultry breed are developed for some desirable traits. List five such
desirable traits.
3eEr f OR
(@) e 3wl wE § om fafaw) & ar e w S e TR w9l § 2
(b)  TETHI T HOG WA w9 B Al o el fefa )

=y Differentiate between compost and green manure. How does green manure

un

enhance soil fertility?
_—(BY"  Write two disadvantages of continuous use of fertilizers.
71 3 3R W 3, 2e #R T & Tl H S Il HIe 5
(i) =R
(ii) AT
(i) — EE
(iv) TR
(v) e/ e
Compare in tabular form, the properties of solids, liquids and gases with respect to:
~TJ__ Shape
Volume

/(!.!15" Cumpmmbmty

,,.-(-v}"’ ﬂmdlty," rigidity
a1eraT / OR

firet 9 100 mL 9@ ¥ Us =99 A4S e ' 5
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Priyal dissolved one spoonful of salt in 100 mL of water :

0
()
(i)

(iv)

/22-/ (@)
(b)
(a)

(b)

(@)
(b)
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e
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(b)

Where does the salt disappear ?

What do you infer about the nature of matter 7

State two characteristics of particles of matter observed in the above activity.
Show the diagramatic representation of above mentioned activity.

arafa faee, fream oij Fers 3 fr % R w e Fifeg 5
(i oA (i) e
werd = i SEE 9 2ate sEed | ufEde & fou SeeEt @ s fafan
Compare true solution, suspension and colloids in terms of :
(i)  Filterability (i)  Stability
List two factors which bring about a change in the state of matter say gas to
liquid.

HgEr / OR
=4 faeEa =i FEga fGegT 599 § =i 2 aiF fafau) ' 5
T AR fawwitt faavi § wois 1 0w See Sa o fafan)
State two ways by which you can change a saturated solution to unsaturated
solution.
Distinguish between homogeneous and heterogeneous mixture by giving one
example of each.

W

OA, AB 3R BC Y& iaue 3 w0 919 Fifa |

B e e e .C
velocity i
(m/s} 15 '
e e S v

Sl e

0 o A A

O 123456789 101112
— time (s)
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(a) Find out acceleration over each of the intervals OA, AB and BC.

C

0 ‘D E F
O 123456789101112
— time (s)
(b Calculate distance covered in last 3 seconds.
- F¥aT/ OR
HauH =i T @ Ui T five fawe A &9, w’ € & 9-89E T AR § 5
T F Teg & Jn-fufy Hay % fo w1 S e S

Draw a velocity-time graph for a body in uniformly accelerated motion and has an
initial velocity “u’. Use that graph to derive the position- velocity equation of motion.

28/ (a)  Ha HE© = e foate) 5
(b)  Fret o ot S iforg i e e e vl & I e

Slraw

i
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SR =i ?
(i) 59 Trammen gl @ e Freen o1 g €2

(a)  State the law of conservation of momentum.
(b)  Observe the following diagram and answer the questions given below

Siraw

thread  Balioon .

(i) Which direction does the balloon move when the thread tied to its neck is
removed and why?
(ii)  State the conclusion drawn from this activity.
a197aT / OR

(a) uﬁmmﬁ—%mméﬁgq‘nﬁaﬂmﬁ'm'ﬁwaﬂm'wﬁmﬁami 5
(b) el Uz 1 9T 1 e & feer W g i we = o €2 e Fife |
Define ‘inertia of motion’ and ‘inertia of direction’ by giving one example of
each.
Explain why some of the leaves may get detached from a tree if we vigorously
shake its branch.

%
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Nikhil performed the test for the presence of starch :

(@ by boiling a mixture of iodine solution, conc. HCl and food sample.
(b) by boiling food sample with NaOH and adding iodine solution.

(c) by adding a few drops of iodine solution to the food sample.

(d) by boiling food sample with iodine solution.

26 €M A TR E I T wWE ) T d ur fren w=, e die o @ e v e 1
T T T wEen § a7 &R 36 @ 98 |ig HC ) e | 9 T e 1
1B 1 Te g w5 € 2 o foemn wan sofass o
(a) wE (b)  HeFe ga
(c) URfeEm smEEe (d) e eE
Seema bought arhar dal from the market. On adding water to the dal, the water
became yellow in colour. She took a sample of this yellow water to the laboratory and

added a few drops of conc.HCI. The sample became pink. This confirmed that the
adulterant added to the dal was :

(a) turmeric (b) metanil yellow
(€) Potassium dichromate (d) vellow dye
/zﬂ/ﬂ#aﬁﬂ%ﬁnﬁﬁiﬁmmﬁﬁim#fmmﬂﬁm: 1

(a) TR STo1 | WG o

(b) O H WY W qE Y|

(c) == % | faeft et &f = = 91

(d) =F IR Tmw w fagoa

To determine the accurate melting point of ice, we should preferably use:

(a) Ice made from distilled water.

(b)  Ice made from tap water.
{¢)  Crushed dry ice mixed with water.
(d} A mixture of ice and salt.

/é ST 1 FTYAIS I T 6 (o7, U faedi dien ® 5w $1 $ A3 o € 3 30 | W 1
TH A § | 6 TR 9199 1 USdis ol Wl & | 9% Sk wa ¥ fE e w5 e

(@) EE Hi-oTH sgW 2, UHeH FW E 9 ¥ o) 5o 9ug 9 fg @ e

(b)  TER Y- =g € o fem Fram @ s

© Trafim e 8 g sm ¥

(d) i T9 9 dga S g
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,_BM o determine the boiling point of water a student takes some water in a beaker and
heats it over a flame. He keeps on taking the temperature reading. He observes that the
temperature of the water :

(a) First increases slowly then decreases rapidly and later becomes constant.
{b) First increases gradually and then becomes constant.

{c) Keeps on increasing regularly.

(d}  Keep on increasing irregularly.

/zy i3 fa e oz F, w1, 2 SR wEw: € : 1
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(a) = e, R W, 2Edie s
(b) =T fewm, TRE ¥e, aR S
(c) TEWE WS, TR e, W e
(d) TR =, | fe, 2RdE e

In the following diagram, the respective correct labelling of 1, 2and 3 is:
i

."L_L =T
I

(a) a china dish, wire gauze, tripod stand
(b) china dish, tripod stand, wire gauze
(c) tripod stand, wire gauze, china dish
(d) wire gauze, China dish, tripod stand

S 1 IO T =1 i | e = @ we T e % we § e fem Wy 1
FH AN AR T @ T e w e T A e

(a) U = W (b)  TER T

(c) dR¥9 Hche (d) Trewt

Shreya was asked by her science teacher to prepare a solution. She dissolved the solute

in water but forgot to record its name. What may be the correct name of the solute ?

(a) Egg albumin (b}  Sulphur powder

(c) Barium sulphate (dy Alum

-

/ﬁ. e St % e 3R T Ee F1 A 1 R o 3 sk fR s e wy 1
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X’ is a mixture of iron filings and sulphur powder “Y’ is a product obtained by heating
the mixture X and crushing it to fine powder. On bringing a magnet over both X and Y.

Rahul observed that :
(a) X and Y both are atiracted (b) Y is attracted but X is not
(<) X is attracted but Y is not (d) both X and Y are not attracted

32" v e g A R A SR Y e s A e A mE w1
/7. A % 6 s, sE

(a) = e (b)  ®E=RI dieit ween
(© g et s (d) o e s
When a burning magnesium ribbon is introduced in a gas jar containing oxygen, it will
bum with :
(a)  areddish flame (b)  apale yellow flame
(c) a golden yellow flame (d) adazzling white flame
@ = i §, et § g o o SR T we & foAm § we owweeRE e 1
= ¥

Powder
() (Im) (Im (V)
Tt Yegm =t wefvia = aen faa ¥
@ @O (b @ () () (d Iv)
In an experiment, carbon disulphide was added to a test tube containing a mixture of
iron filings and sulphur powder.

Powder
@
The correct observation is represented in diagram :
@ 0 (& D () (1D (@ @)
/ v i Ui 77 SO O @ A w6 9 U e s o 1 st a1
Yafa % Hed d wEl wUT ¥

(a) TR s it g
(b) TR R THE
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When zinc metal reacts with dilute sulphuric acid, a gas is evolved. The statement
which is correct about the nature of gas is:

(a)  colourless and sweet smelling

(b) colourless and odourless

(c) reddish brown and odourless
(d)  colourless with suffocating odour.

(@) FifmmfaE ©® T (¢ HfFesiem (d) FREE=E
Identify the wrong labelling in the following diagram of human cheek cell.

Cell wall
Cytoplasm

b Mucleus

ab Nucleolus
(a)  Cell wall (b) Nucleus (c) Nucleolus (d)  Cytoplasm

jﬁf Fo faanfiE 3 o wda S & e gee g7 e SR g wEm s T 1

Hfiiss d TEm ®
(a)  HWIA (b) AuEH
(© i () SREmFdEdd
Some students observed cheek cells clearly under a microscope. The stain which they
might have used is:-
{a) Safranine (b}  Methylene blue
(c) Acetocarmine (d] Any of these.
37. WﬁWﬁWﬁﬁﬁlﬁﬁ%Mﬁﬁﬂﬁmmmﬂﬁq 3

@ g s
(b) TS &I Ol

() ™ I =G THl H gael W
(d) === TR
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/Tn observe cells in an onion peel we must prepare the slide by mounting on it.

{a)  dry scale leaf

(b) green leaf of onion (spring onion)
(c) thin layer of fleshy leaf of onion
(d)  crushed pulp of onion

3 i um s S A A S e werRE v geh it e ¥ Ak

fru | wEE F 96 A §
(a)  TECICHEA (b)  TEEA

~_ () i Hifwe (d) Ea st

Anvika was observing a slide. She observed alternating dark and light bands with
many nuclei. The slide would be of :

(a) Sclerenchyma (b) Parenchyma

(c) Nerve cell (d)  Striated muscle

w a3 e Tt wse i $ @iR wamn fn s et i fafa e e,
wae @i fa SaFe wE F Safen € T2

(a) TR (b) TR

() fem i (d)  drE =i

A student observed a prepared slide and reported that the cells are long, elongated and
thick walled with no inter cellular space. It is:

(a) Parenchyma tissue (b) Sclerenchyma tissue

(<) Striped muscle (d) Nerve cell

a3 ot fewfueli = it onm odt AR F1 9t F ot i o frufael @ s=EE FE
i ﬁwﬂ#ﬁmaﬂﬂﬁ?m%aﬂrﬁﬁﬁﬁfﬂrﬁwﬁwmxm%ﬂ
Tl gro s/ 9o =t wiavmaa gt -

W?I x100 % (b) x 100 %

(7—2x)
7

(@) {21? 7)

(c)

Ravi took weight of five raisins and five swollen raisins of approximately equal size. If
the weight of raisins taken was 7 gram and weight of swollen raisin x gram, then the
percentage of water absorbed by the raisins will be :

%100 % (@ @ X100 %

(a) .{3-;—"1 %100 % (b) {2’; 7) 100 %
(©) L?—?_E'x) %100 % (d) {r?” %100 %

w dfie 09 o T F S F 99 T 3w wieiaa w9 ¥ T, @ feefiE 3 v
T 3R FHARR ge WA Rey W e & AR w1 ae fim #) o el gl 0w
AT T & SR SHU U9E W F9 4 A 39 oma g1 FAMER gensdl [ meas
FUT: F, 3G feddasRamsaadt:

@ F>F (b) Fi<F © Fi=R() FHa3EE
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To calculate the force of friction between a wooden block and the horizontal table, two
students use identical blocks and spring balances but different surface below the
wooden block. One of them uses a rough surface and other one puts some oil on the
surface. The observed readings of spring balance are F; and F; respectively.

(a) F=FE (b) EFEi<F; {c) Fi=F (d) None of these

TR TFS S R aRagn t, et Rfmf mpiww 1
= ' uR @ U FEFRR 5 3N RS § 9R 3 ome feuwe 5 ¥ fow e
FAEEF T6 § W6e =Y 90 HE F e, 9% Yfew fea e ¥ S = femen aE E
e s e g T T YR @R €
{2 - 35gwt (b)  40gwt () 30gwt (d) 45gwt
A square wooden block open from one side is lying on a horizontal table. Different
weights are kept in the box one by one. To establish the relationship between weight of
a block and the minimum force required to just move it using a spring balance, it is
observed that the force required to just move the square block is minimum when we
put a weight of : ’

() 35gwt (®)  40gwt () 30gwt ) 45gwt

~-olo-

Page 13 of 13



